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Notes
W+ 2

B1: Selects the method of making a connection between x and w by writing x =

Condone the use of a different letter than w

W+ 2

M1: Applies the process of substituting x = into 9x® —5x° +4x+7=0

dM1: Depends on the previous M mark. Manipulates their equation into the form
aw® +bw? +cw+d (= 0) . Condone the use of a different letter then w consistent with B1 mark.

Al: At least two of a, b, c, d correct
Al: Fully correct equation, must be in terms of w
Alternative:
B1: Selects the method of giving three correct equations containing «, # and y
MZ1: Applies the process of finding the new sum, new pair sum, new product
dM1: Depends on the previous M mark. Applies
* —(new sum)w” +(new pairsum)w—(new product)(=0) condone the use of any letter here.

Al: At least two of a, b, ¢, d correct
Al: Fully correct equation in term of w




